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Compiler Design
Time : Three Hours

Maximum Marks : 70

Note: i) Attemptany five questions.
{2 uTa Hel &l gef hIfoTY|
ii) All questions carry equal marks.
Tt el & T 37 Bl
iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. Discuss the analysis and synthesis model of compilation.
Explain each phase by using the input :
a=(b+ c)x(b+ c)*2
Hepea= & fAeaigor 3R Heetsor Afser W =4l x| $TYE &1 START
PReh Y TR0 &I AR PN

a= (b + c)«(b + c)*2

2. a) Explain the various Compiler Construction Tools.
faftrsr srogeR dRgae ¢od & aR N gamd|
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3. a) Differentiate

(2]

b) What are the issues to be considered in the .desigr} of
lexical analyzer? Why is buffering used in lexica

analysis?
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Top Down Parser and Bottom Up Parser?
Give Example for ea(_:h? :
2¥ gra TR 3R i 3T IRR
IEERT <

b) Prepare and Eliminate the left recursion for the grammar

TR0 & foT left recursion AR & 3R Eliminate 3%

F iR PRI IAD B 1T

S—Aal|b
S—>Ac|Sd|e

4. a) Considerthc grammar

E—=E+T
E->T
T—>T*F
T—=F
F—>(E)
F—>id
Construct a LALR parsing table for the grammar given

above. Verify whether the input string id + id * id 1s
accepted by the grammar or not.
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b)

b)

b)

[3]

ST
| B
T
Tos]
F—>(E)
F—>id

TR fu
ﬁ%;?dTafﬁ’J@LALRmﬁﬁéaﬁrmr

3 id * id STERR0T GRT FfIBR :

What are the vari .

oduce parsmg‘?arlous conflicts that occur during shift

Shift reduce
parsing & a’mﬂ
2 B Eﬂ?“f faftr= conﬂlcts 2l
What is a DAG?
Draw th
;)Agl " bs; c)—(a*b+c) e DAG for the statement
U e? RITa=
- (axb+c)— (a*b+c) ¥ RTTDAG
Explain synthesxzed
attrib
SI.Iltable examples ibute and inherited attribute with

$“T"-I“2=|1134T:'=:Q1 z Eaﬁ@ﬂﬁm—mﬁ

TSI ReHT & foiy
o T 1S :
P: _(X**Y)"‘(X o 3repH ford |

PTO

7. a)

b)

g. Write prief
IR CALl

a)
b)
c)
d)

(4]
1c follmving in Mlow graph: i—1; sum=0; while

|II}

Represent 1l
(i<=1 0){sum+t~
while (i<-10){qum =it
Wwhat arc the different sour

blocks?
Basic APt & optimization &

1 surn';O;

el @ =1

+3)
cc of optimiZation of basic

ﬁfﬁﬂ@ﬁm%?

notes: (any three)
fr: (18 A1)

Peephole Optlmlzatlon

Global data flow equat1ons

Dynamic Storage Allocation

Error Detection and Recovery
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